Lior Silberman’s Math 101 16
8. INVERSE FUNCTIONS (1/10/2019)
Goals.

(1) Inverse functions
(2) Derivatives of inverse functions
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Math 100 - WORKSHEET 8
INVERSE FUNCTIONS

1. MORE ON THE CHAIN RULE

(1) Suppose f, g are differentiable functions with f(g(z)) =
23, Suppose that f'(g(4)) = 5. Find ¢'(4).
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2. INVERSE FUNCTIONS
(1) Find the function inverse to y = 2" + 3.
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(2) Does y = z* have an inverse?
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(3) Consider the function y = +/x — 1 on z > 1.

(a) Find the inverse function, in the form x = g(y).
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3. THE INVERSE FUNCTION FULE
(1) Given that d%gf =2y, find L/,
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(2) Find % arcsin .
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(3) Find <-log .
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(4) (Derivatives and logarithms)
(a) leferentlate log Vit Iy 1
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(Final, 2012) Let y = log(sin(log z)). Find %'
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